Name: Per,
lonic Bonding Basics
Complete the chart for each element.
# of Valence | Draw alLewis . I
Element # of Protons ;?ta: # of Electrons in Structure Change in Oxidation
ectrons neutral atom Diagram electron # Number
@
Sodium g - 4 :
(Na) i i1 i Na loses 1 1
Chlorine . . .
(Ch) P i { CI Geding qéé é """""""
Calcium 3 ;
(Ca) 20 Ca oses 2
Oxygen (O) & & O gains 2 2
Aluminum . e - f .
Phosphorus g “ . N
P) b o o P gaing 3 S

Use the space below to write down the steps to complete the example.
Example: Potassium + Fluorine — KF

1. Write the symbols for each
element.

2. Draw Lewis structure for each
atom shown.,

3. Draw an arrow (or more, if
needed) to show the transfer of
electrons.

K1+ F1-

Remember, the number one is often omitted and 1+ and 1-
ions are often just written with a + or — symbol.

4. Determine the new charge/
oxidation numbers for each ion -
make sure the sum is zero!

KF

5. Write the formula for the final
compound.



1. Magnesium + lodine
SR

e () I & > i Mg wm{l(i} have a ck;z‘srge of 2+
+ - singe B lost owe electrons,
M ®o0® M3l
&1 ‘ % % % % + Each | iog would have a charge of

F-gince each gained an electron,
O @ M ; A sobsoript “27 I oased t show
% l % Q 2 that twer jony were used 11 the
% @ s ' hona,

Students will start with one magnosium ared one
iodine ateen. Since the onidation numbers must
equal zerns, they witl need to add anether indine glon

2. Sodium + Oxygen

Na
O NazO

N The G lon would have a charge of
. . . . I gimee it gai sy elerdrans
a Students will start with one sodium and one 2- since it gained twa electrons.

oxvgen atom. Since the oxidation numbers must
equal zero, they will need to add another sodium atorm,

+ Hach Na ion would have a charge
O of 1+ singe sach lost an clectron.
2 A subseript "2 i used w show
that two fons were used in the
Do,

3. Sodium + Chilorine

Na would have a charge of

Na1 +‘C[1 = T+ since it fost an elestron

1 would have = charge of

I-since it
N&Cl gained an clectron,

Ca wounld have a charge of 24
C 2+C{ 1- since it lost two electrons,
2 Each Clion would havea
charge of I- since cach gained

C CI an electron, A subseript 2" is
aluio used to show that two ong

were used in the bond,

1- The Abion would have a charge of 3+

N
A C 3 since it lost thrés slections.

} since eagh’ gamed an olst

O @ O % A!CIS Acgubaeript "3 is et 1o ‘»E,ah\
' I @ % ) taat three ions were used in the homl.



